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Topic:- Child Development & Pedagogy (CDP)

1) Claustrophobia is a fear of enclosed places. It is an example of : / Wﬁﬁtﬁﬁm AT RITT BT Udh
X 21 TUPT U ISE0 2:

1. Global Developmental delay / dfRIe faera 3 &3
2. Obsessive-Compulsive Disorder/ Jeeil-arederl aeR
3. Anxiety disorder / ded faaR

4, Autism / 3iifesH

Correct Answer :-
o Anxiety disorder / derd fddR

2) In “heuristics,” the child is free to go for any kind of possible rules or ideas to reach the solution.

This rule is called as:/ “WE[‘J-I'IﬁTﬁ 271¢ JoTTett” ﬁ,aﬁmmwuﬁaﬁ%ﬁﬁﬁaﬁﬁm%mﬁa
oy sryar foaR #1 Teradr @ Hed §, 59 (U & o1 Hel AldT 872

1. rule of thumb/ IJHaTlg AIH (¥l 3T UFT)
2. differentiated rule/ TAAET AT

3. mimicking rule/ 37cJeh0T G

4. cognitive rule/ GATATHE fAITH

Correct Answer :-

« rule of thumb/ IFHATEG TAIH (¥ 3T U)

3) Which is not the step of scientific method? /
frafafea # @ Si9-31 W= yomel &1 @Ror 78 82
1. Experiment / 91T

2. Interview / d1&TchX

3. Prediction / qaTgHT


Lenovo
Stamp

Lenovo
Stamp


4. Observation / 3Tddllchel

Correct Answer :-

o Interview / HI&TchX

4) According Jean Piaget, children develop abstract logic and reasoning skill
during i

T RIS & ITER, & 2R gedl F Iy aF IR aF sk BEfa @ g
1. Concrete operational stage / ¥ TRRITCHD aTAT

2. Formal operational stage / 3ituarie @fharcas rawm

3. Preoperational stage / gqd-@ftrarcas 3m@eam

4, Sensorimotor stage / HIE W JHEIHACI( AT

Correct Answer :-

« Formal operational stage / 3ftuamies HichATcHD HaEAT

5) A self - directed learning process is arguably the most powerful model for facilitating and inspiring individual,
group and organizational learning and development. It means learners gz /

vs ¥a-fAERT e wihan, safFdera, gEgfes 3T Wredrcas siftee sk s fr gier
e f.udE waw afFaene Alse g1 $UF Adad ool AATHRAT |

1. take responsibility for learning and become goal oriented / ITAITH &Hr ey oar ¢ 3R H&'&Tﬂi’@
I Bl

2. compete with others / GEI & T gfdeusl &dr ¥l
3. achieve the best scores / 37TST URUTH UTH HIdl %I

4. enjoy learning / 31T &7 AT of T &l

Correct Answer :-

« take responsibility for learning and become goal oriented / 3TTQIH & [HFASRT oIdT g 3R H&ﬁ?ﬂ@
qe B

6) In which stage of psychosocial development does the child feel shame and doubt? / IFﬁ%ilTﬁﬁ?
faer ¥ forg avur §f 9= ) IR SR WdE Wegd BT 82

1. Preschool / Eﬁw

2. Adolescent / fRIRTaEAT



3. School age / ¥hel 31T
4. Early childhood / &3l dTeAhIct

Correct Answer :-

« Preschool / WIERcT

7) Proper sex education should be rendered at stage. / sRa gl faw aEar
W YgIe & ST Tifgel

1. Childhood / dTedbTel

2. Adolescence / fepMRTaE2T

3. Adulthood / IIFPH

4. Early childhood / RfH& aTeddrel

Correct Answer :-

o Adolescence /ﬁFQIIIIEIFQIT

8) The ‘Hypothesis of Critical period’ was proposed by .| ‘Agcaqot Iafy fr aRFeqar
& AR yFanad @ a5 ot

1. Helen Keller / olel choold

2. Noam Chomsky/ dTdH aTFEhT

3. Bloomfield/ Se[d@thIcad
4. Eric Lenneberg/ TR CEEE]

Correct Answer :-

« Eric Lenneberg/ TR CEEE]

9) Who is credited with the concept of Intelligence Quotient (IQ)? / gﬂ'ﬁl’?«lﬁﬂ'
(IQ) ¥ TR HT A fFa f7m sITar 82

1. Theodore Simon / f2AEX dISHA
2. Spearman / TARRAS
3. Alfred Binet / 37o%hs [t



4. William Stern / Taforga e

Correct Answer :-

. William Stern / Taferaa Ted

10) According to Piaget, intellectual growth occurs through adaptation to the world. This happens
through: / RTer & 39N, dlgfs e gar & seqgas & aAreas & g ¢ a5 Fas
ATEIH & g 87

1. Absorption and Accommodation / 3TdRNYUT 3R FHIA (THIASA)

2. Acquisition and Autocorrelation / Uiy 3 T@a: WETQT

3. Assimilation and Accommodation / 3TcHTATCAUT IR FIHTA (THIASA)
4. Assimilation and Acclimatisation / STETITEHRUT 3R tﬂfﬂﬁ:{

Correct Answer :-

« Assimilation and Accommodation / 3TcHATHIUT 3R TFHASA (THIASAA)

11) According to Albert Bandura, the process that is involved in acquisition, organization and use of
information is called process. / eaE 43U & AR, I¢ UiHAT ST T F HfArEwr,
e R IuAT A A g 8, 39 yfshan g S 2

1. Cognitive / THTHD
2. Affective / THTT
3. Self regulation/ T AT

4, Motivation/ YT

Correct Answer :-
« Self regulation/ TT fAIHA

12) What concept of conservation focuses on the amount of a substance that exists? / TI&TOT T @lsT AT

Rigera fredt wisper gard A #mm w FRaT 82
1. Weight / agHd
2. Area / & F%dl

3. Mass / gl

4. Length / &aT$



Correct Answer :-
e Mass / gcIHATA

13) What cognitive ability are children displaying when they attribute human-like qualities to objects? /
T FIT-W FAWTCHF AT gt W § 9 § IEGIAT Y AT ol F FEAT FQ 82

1. Egocentrism / 33T (3IMATegod)
2. Conservation / HI&0T

3. Animism / Sddrg,

4. Object permanence/ &g T Rica

Correct Answer :-

e Animism / Siddie

14) Some children experience excessive anxiety at being away from home, even after a long period of
time. What might they be suffering from? / $& ¥ o9 §HY 9% W d I TEA F 9 8ft, | & I
B oY e R &1 aepea FXa 81 3 e @ fitT & ¥Fd o2

1. School phobia / ¥fel Hifear
2. Social anxiety / Ao =IdT
3. Conduct disorder / 3ITaR0T dHR

4. Separation anxiety / 3Tel9TTd T fidr

Correct Answer :-

« Separation anxiety / 37eTeTd &1 fie

15) An example of self-report measures of personality is/ SdfFded & HTcH-RUIE 3UTAT FT TH
3ETET §:

1. MMPI / THUAWSMS

2. Sentence Completion Test / dTeFT C[Usf g&ToT
3. Rorschach Test / T TLT&Tor

4. TAT / &TdY

Correct Answer :-

« MMPI / THUHTISMS



16) Intense mood swing is a characteristic of / g q3 faer fAFT &1 8T §:
1. Learning disorder / 37TQ9TH &7
2. Bi-polar disorder / fa‘giﬁ TIehTR

3. Conduct disorder / 3TEROTITT TIhR

4. Anti-social personality / 3THTHTTGIh T Tthed

Correct Answer :-

» Bi-polar disorder / %“'{Cﬁ faR

17) Which of the following best describes Maturation of a learner? / A&ifaf@a & & a1 v Ryt
&I IRUFTdT FT TIR HTOT qUIT FIT 82

1. It is a continuous process of individual development/ Ig TATPIT fadrE HT Th TAdd Ufham gl

2. It is related with cognitive capabilities/ T& TAAICHD &TATI & Fafdd gl

3. Specific environment is required/ fafE aTdATaROT HI 3MATHAT Bl gl

4. Tt takes place at specific age/ e Tafrs g H BT '

Correct Answer :-
« It is a continuous process of individual development/ I Sfhold faepie &1 Teh @aa ufehar %I

18) Which type of memory takes special account of context? / v &R T Fﬂ'ﬁ' el #T Ay e
@dr 8?

1. Iconic memory / ufafBa &xfa

2. Echoic memory / gfdtafa ¥fd
3. Episodic memory / wrdfates T
4. Sensory memory / Hder W

Correct Answer :-

« Episodic memory / r&fiie EFfa

19) Students who disturb others in a classroom are likely to have type of learning style./ SiY
S FET # qEA F WA Fd ¢ 39 99 R 1 Haa i dh g Fr woraen
gl B



1. Kinesthetic/ IIfaTdeT (Prsa¥Afes)
2. Tactile/ TAFAT (EaFeTsSdl)
3. Auditory/ HdoT

4. Visual / €T

Correct Answer :-

« Kinesthetic/ TITAFAET (FrEaTAfeH)

20) Who carried out an experiment on memory involving nonsense syllables? / f&aat Tfd 9 v AT
o, s awarw esarer anfaer 92

1. Ebbinghaus / ufcaerard
2. Atkinson / Uefhde

3. Posner / U

4, Calkins / dreifhd

Correct Answer :-

+ Ebbinghaus / ufeaaams

21) Who proposed the concept of zone of proximal development? /-f@ecTy RAeMT & &7 $r TUROT
&1 gFaq fFaa @

1. Abraham Maslow / 3TSTedH HEC
2. Lev Vygotsky / old dTSaNcachl

3. Carl Rogers / Tl T

4, Albert Bandura / 3odc Eingr

Correct Answer :-

o Lev Vygotsky / ol aTsaNcahl

22) The spinal cord develops earlier to the heart. This is because of the operation of the following

tendency. / §ig ¥ g3 g7 ¥ qF RAwRAT gkl ¥ 77 AT ygfr & ware & FRor g @
1. General to specific / AT ¥ fafe de

2. Cephalocaudal / TthellTasel

3. Proximodistal / TTeFRNAITSECS



4. Part to whole / 9T & FEJ;U‘T e (are [ gleT)

Correct Answer :-

e Proximodistal / MFAHAISEC ST

23) The following is an example of a secondary reinforcer. / ﬁmﬁﬁaaﬁmgﬂaamwm
gl

1. Ice cream / TSP
2. Dress / QI
3. Money / 91

4, Juice / IH

Correct Answer :-

e Money / 9T

24) Maladjusted children are generally seen in / THIId: Wﬁﬁ I T8l 3@ I &
1. Broken family / @y giRaR &

2. Rural areas /JTHIOT &A1 H

3. None of these /38 & P ol
4. Poor family / IR1g gRar &

Correct Answer :-

« Broken family / @ uRar &

25) One learns to use one’s muscles and acquires a skill due to: /
UF gfFd, AMIRAAT HT 3TART FAT HE@ar § 3R 7S FROT v Flerd qIod FIAT &
1. Maturation /
RIRCESEI
2. Exercise /
¥

3. Learning /
JfReTH



4. Parents’ force /
FfRHTIRT BT IR
Correct Answer :-

e Maturation /

26) During the emergence of language, the ‘jargon’ period is present during / 39T ¥ 3T F gRI,
“QregtTel AT AR Jafer 3@ R el &:

1. Nine months to one year / @l #FgA ¥ TH ay
2. Birth to three months / 3= & A1 dAgd

3. Three to six months / d & ©: FelA

4, Six to nine months / &: ¥ A #LA

Correct Answer :-

« Six to nine months / &: & &l #ALA

27) During the first half of the 20th Century, students, those identified as
having special needs, received few or.no special services.in the schools.20 / il

TdTed] & Ugl SATRY H e, @S gt QY 3raededr @
gt F T A A 75 fl, 37 Tl A Fo A1 F§ AT Jar @t Bl o

1. Above average / 3i@d 4 31TA®

2. Exceptional / 3TATYTROT

3. Mentally retarded / AP &7 J HAg

4. Poor / G

Correct Answer :-
o Exceptional / 3TATYRUI

28) VARK model of student learning was proposed by: / ST 89T &1 arh HISH 3% GanT
gEaiad f&ar aar an:

1. Kohlberg/iﬁ?ﬂ?‘f
2. Neil Fleming / Yol FelfdaT



3. Piaget / TUamat
4. E. Erikson / §. 3RaT

Correct Answer :-

« Neil Fleming / STl Tl f3aT

29) Which of the following is the best way for parents to support and help children cope with
failure? / fFatfaf@a & ¥ wla-w1 ATET-RNargaErT == # 3@Faar & Fuea § gads
g 3 3T AgE F FT FIH IJTOT dAHT §?

1. Create a comforting environment for the child to engage in another activity to forget their failure / RE o

HA B YA & foT = Bl fordt o TfAfafY o Rd A 8 U SRS GRART HT FHI0 ST

2. Listen, empathize, then focus on opportunities to learn, not abilities /QFHT, H’é‘l‘g’ﬁﬁ% T, T
@ & ATET W AT dhigd e, d b &7 a3t |

3. Create an environment for our kids that shelters them from potential failure or disappointment /
3 gear & forw o akayr &1 @aAr HF S 3o efad awear a1 faRmwer &
Ta |

4. Push kids beyond their capabilities / Sl P 3! &HATS] I U b1 AT IR G|

Correct Answer :-

« Listen, empathize, then focus on opportunities tesdearnnot abilities /Qj?-l?-IT, H’&‘Fﬂ{% I, 28
HrEga & HIET W I higd el e foh SRS U]

30) Inquiry approach method develops the ability of learners for / T&dar® ef¥®ivr faftr I Rrenfiay #t
= & fore arvar &1 fae gian 8:

1. Using the experience of a teacher / Teh fRr&T&h & aama?rwzﬁqal I

2. Assimilating more information in less time / @al THT H ITAD SATADRT I AT PIAT|
3. Experimentation / U=

4. Maximizing verbal learning / #1T& 31191 &l STade HIHAT db TEIT

Correct Answer :-

« Experimentation / ORI

Topic:- General Hindi (L1GH)

1)



YFIE H1a & T gfrar ot srdfarawt fore ave o § 3t g3 & 99 AT a1 e argeiRE $gd
ISTEXU1 & o TSI B AT | ATSHNITHE BT gSBIe NG H 1 59 $UN & ATHAR & $ 3
YR 3R 31 &3 =0 § a1d &1 WIS Iaive & Arvedsr Tt giar A swuma 5 o 81 smifve &1 %
TR TP 3T ITeXV 6l Pl 8| BIS B HR A98 A Fd1 & 3R 93 & -1t w1 et & R &5 3= o
STt & 1 39 SraTar 39 U & AR sy fpdt g 331 & 991a 817, Wie dee fadt siR 3w, @mge, R =g
R freft o 3= & 991d @111 R & AT T UTd SrenT ST dER §RT WIS Hier &1 Jwms fhd 9id &,
R To 1Y SieHT SR T1E St §1 37 Gaft bar-waral @ ot g # Aok & erawR ter ld €1 59
T g 1 srferawt gufaa gt 81 oy oft it 3= SeuTe a1 a1 F IR F A g ¢ et Iared
g & fafira urT & grar 81 59 Iy wR oY srdogawnsii & ureR fAlRan &1 o= gar g1

T ifore f fadt duit ot HIS w18 HRamT 81 39S o) ugan faswew g fb sruq 31 A € o1 wearn
W WgT 59! anTd i Mt SrTar faswed ghm f 39 w1 & fhd} U9 =1 H FHrawn WY, SEl gadt
ARG B4 IR g5 91w 3 fF 315 ft sroeht g eer &) gft uRa, walkmn, 99 ik agaa A v
AT HH BT R 3Ty § 3NT 39 330 # #oigr ff I # e wira &1 S99 IuTe &) @d $1 81 91l 8 3R
I BT dgaR YATHT giaT 8 | AR TS 3MY B3 e Wiled 3, df ITP $© UTE HATRMAT a1 argar o
1 819 8, TR YR & o1 81T @ SR Wieedar SRt & Imar 21 Sifew Iare 39 &9 # a7 § o6l 54
AT ST 81 72 TR P TATN: e N TR & SaTeraR TTedh! 1 [Hat ane & @il R g ik ggf s@
F ISR WU g1 Pt GUTGAT g1, A ST D1 0T I Fe & R IS 9 B Ao a1 S| fasdt
T IR § 713 US| B AR B (9] T¢18 o Thdl 31 3T & R | fay B $a ardt &1 v NS
Sﬁwﬁ:ﬂ;ﬂﬁ;mﬁmélﬁﬁﬁﬁmmﬁaﬁwﬁﬁmﬁ%ﬁﬁﬁwmaﬁw@m
E3 |

ITYe TR B! TSP AR U Y U= BT IR 9d13¢|
Y: ABHIAITE FT HEAGT Fal 67

1. AN

2. G

3. Wi
4, 3Tl

Correct Answer :-

2) nyfew o1 § T g Y srdegawt forg @re ooy | 1 g% § 39 afiwrur a1 WiearseRe $gd 2
ISTEXUN & o USRI B AT | ATSHITHE BT gSPIe UNRDT H 1 59 HUN & ATHAR & $ 3
YR 3R 31 &3 =0 § 91d &1 WIS AT & Arvedsr Tt giar A swuma 5 o €1 smifve &1 w1
e TP 3T ITeXV 6l Pl 8| BIS B HR 998 A Fd1 & 3R 93 & -1t w1 et & R &5 3= o
STt & 1 39 SraTar 39 U & R sy fpadt g 331 & 991a 817, Wie dee fadt siR 3w, @mge, R =g
R freft o 3= & 991d @111 R & AT T UTd SrenT ST dER §RT WIS Hier &1 Jwms frd 9id &,
R To 1Y SieHT SR T1E St §1 37 Gaft fbar-waral @ ¢t g # Aok & erawR ter gld €1 59
T g 1 srferawyt gunfaa gt 81 oy oft it 3= SeuTe a1 War & IR F A gwd § et Iared
g & fafira urT & giar 81 39 3y wR Y srdogawnsii & ureR fAlRan &1 w1 gar 81

T ifore f fadt duit 3t IS F18 HRamT 81 39S o) ugan fawey gl fr srue 31 A € o1 weamn
R WgT 59! anTd e Mt SrTar faswed ghm f 39 w1 & fhd} ¥ =1 H FHranwn WY, SEl gadt
ARG ®4 AR 75 91w 3 fF 315 ft sroeht g eer &) gl uRa, walkmn, 99 ik agaa A v
AT HH BT W 3Ty § 3NX 39 330 # Aoigr ff I # e wira &1 S99 IuTe &) ad $1 81 9rdl 3 3R
I BT dgaR YATHT giaT 8 | AR T 3MY B3 e Wiled 3, df ITP $© UTE HATRMT a1 argar o
1 819 8, TR YR & 91 81T @ SR Wiredar SRt & omar 21 Sifew Iure 39 &9 # aaT § o6l 54



AT ST 81 8 TR Pt TaTN: e N TR & SAIGaR Tedh! + [hal Iare B @il R g ik agf s@ =

F WIS U 811 B GHTGT 81, @ FHT I YT fIog g & i) $Is 7 HIg FioAn a9+ uSt 1 fadt

T 99IR # 78 U] ) dUR B fIp 9g18 o Thdl 81 3MS & SR | fay &) $a rard) &1 v TS

EﬁwmmﬁmélQﬁﬁvﬁmmﬁaﬂ‘wﬁaﬁm%aﬁﬁﬁwmaﬁwm
R [

ST TR F UgHR A2 IR Y U= $T Ik Farsy|

W HUFIGT AU ITG AR HH A & I Fa1 et 72
1. S8l edl AT AR #F TEAT & d8l AT Flrel &

2. ASIGYT BT BTl P &

3. %A Jda &l ©

4. JUTTAT { FHSANAT B &

Correct Answer :-

3) 3nyfre sra A 7 gfrar Y srferawr frg @ oo # 9 g8 & 3@ Sftewur ar wivargaeH $ed €
IaTeXUl & o ISP SI IfoTT | AISHINTHE BT ssdIe HR®T § 31 39 $U & WIHEASR & $ 3
YR 3R 3T HS =0 & §Id 8 | HISHIAIUE & HITcd 3 Y31 gi-al H seddia (5d Siid & | SBNGT &1 Bl
TeX TP =T ITeXVI &l HPhdl 81 BIS B PR A4S A ad1 & AT 93 H a4 SR fawt & foh &3 2 9
ST €1 39 ATal 39 HUH & AR iy fordt o o=1 & a91a 817t Wie dee foelt siR exr o, wimge, R g
R fareft o A= & 991 @111 BR & AT Tl UTd SrenT. ST d8R §RT WIS Hier &) s frd oid &,
g Tw 91y WisHR SR 418 9rdl &1 57 G fbar-waml 3 gil g Hand IR & e el 7 §1 39
o g @t erferawt wurfaa gidl 81 3y off fhalt o=y IeTg 91 Hald 9R U Wi THd § st Sdre
g & fafira e d giar 81 59 Yy R oY sidoaaeusit & uwwR iR &1 5 gar 81

7= AT fr foreft Sut &1 FIE FH FIGAT 81 ITP o ygan fawey eRm & 3rua 31 7 € 14 Hearn
ST SIgT S9! anTd 3if¥e Smuft| nTen fawey ghm fh 39 1w 3 forelt ¥ 21 & HRarar 9Ig, Sigl 9@t
anTa w4 AT g wrw 3 fF 315 ft Froeht g e &) gl uRa, malkm, 9 sk agaa A w1
AT FH BT W Iy § 3R 39 330 H Aoigy Wit I § e o &1 $99 ITe &) &d HH §1 A1l g 3R
FHI BI IgaR ATHT a1 § | SARA F 3T HIS HIYEX TG §, d STP O U TARMT AT argar o
T g €, MAWR HURd § 771 81T € 3R Aireadur MRt & 3irar 31 ifaw Iare 39 &1 § a7 8 Wel 39
AT ST 81 72 TSR P TAT=T: i R TR & sa1erar el 1 fHdt Iane & @i foran g sik agf s@ 7
F IR WU 811 B UTGHT 81, @ FH B U1 faeg 9o & o) #1E  HIs Aer=r 941+ vt fapeft
T 99IR ® 78 UTed! ) dUR o fIs 9818 o Jhdl 81 3 & SR | fay 3t pa srard &1 v uTs
;ﬁﬁwmmﬂmélQﬁﬁaﬁaﬁmﬁsﬂ\wﬁaﬁmﬁ?ﬁﬁﬁﬂwm'ﬁm&m
R [

ST TR F UgH 1 U T Y= T I«ik Farse|
UR: BIS PR HU U7 IR UIEH T g RIH W 4141 32
1.3 § PIE el

2. 3TEIT-3Te9T TATA

3.8

4. €



Correct Answer :-

o 3TcTIT-3eldT FUTA

4) 3y o1a & T3 gfrar Bt srforawt o @ omu # 1 g8 € S AfieRur a1 /e argeie $ed g1
ISTE0T & ford ATSHIMTUE ) ifoTT | AISHINTUR &7 gs@Ic? ARSI A 31 39 $U-l & AEAR & $T 3=
YR 3R 31 &3 =0 F g1a &1 WIS Iaive & Arvedsr T gfrar A swuma 3 o 81 smfveT &1 %
TIeR TP 3= IGTEVT Bl bl g1 BIs I B AAS | 91 & 3R A9 A g+ o1 At & ford &% 3= ao
ST €1 39 ATaT 39 HUH & R iRy fasdt o 31 & 9994 817, die dee feft sik 31 &, wmge, R g
iRz foreft o 39 A 39 171 SR & T I UTE 3T 3T IS GRT BIS AR & HwTs [$d i &,
R To 1Y SieHT R T1E Sret §1 37 Goft Fbar-saral @ ot g d IomR & erawr ter gld €1 59
gt gferar & srferaw yutfaa gt 81 oy off fodY 3= Ieure a1 Tar & IR F W G@d § fra®T Sare
g~ & faftr i & giar 31 39 Ay wR 3t srdegawureit ® e ket 1S glar 21

7 AT fr foreft Sut &) FIE FH FIGT 81 IS9P o ugan fawew eRm 6 3rua 31 7 € w19 Hearn
ST STgT 39! anTd 3if¥e Smuft| nTen fawey ghm fh 39 1w +) forelt ¥/ 21 # HRarar 9, Sigl 9@t
NI B4 A1 T 91w 3 fF 315 ft Froeht g e &) gl uRa, malkm, 9 sk agam A w1
T $H P W IUAH g 3N 39 320 A Hoigr Wi I A e ol &1 599 SauTe &) @ &4 gt il 8 3R
P Bt g% YATET BT 3 | AR 9T 3ATY Pig IR Wiled 8, df STb $S UIE TARMT a1 arga o
T 213 ¥, TR HRA § 9911 8141 @ 3R Tredar srifvet & amar @1 Sifed Icure 39 3w § a1a1 @ wief 39
AT AT | 718 STOIR B aelr=n: i R IR & Sa1ear At A {6t 3aure &t @ile R 8 sk agrs@ =
F IR WU 811 BT UTET 81, @ FH B AT fao g 9o & o) #Ig 7 HIs Ao a4+ vt fpeft
7O IR # 72 UTEh B dUR Hd (] T¢TS o Thdl 21 ST & SR A f3y &) pa smardh &1 vs TS
%wﬁ:;nﬁfmﬁm%lﬁﬁﬁﬁﬁmﬁﬁwﬁaﬁmﬁ%aﬁﬁﬁwm'ﬁwm
R [

ST TR B! UgH A IS Y U $T Sk 9a1s¢|
U: BIs &1 1 [ e & 941 82
1. oRE

2. o qel
3. AT
4, arfRITe

Correct Answer :-

5) YFF HTa A T g B srderawit o avg oo | ST g8 § 39 afierur a1 Wiears et $gd 3|
ISTEXUN & o TSI B AT | ATSHNITHE BT gSBIe SUNDT T 1 50 $U & ATRAIR & $
YR 3R 3= F3 =0 H g9 &1 AIShaite & Airedsr T gf~ar # swaura 63 omd 81 smifte &1 Bis
TR TP 3T ITeXV 6l TPl 81 BIS B HR A78 A Fd1 § 3R 93 & -1t w1 st & R &3 3= o
STt &1 39P Iarar 59 HU & R aiew et omg 3= ¥ a9d g1, Wi de it siR 3w 1, anse, &g,
IR frlt o= 3= & 9999 8171 SR & AU [l UTé SrerT enT IR §RT BIS Hie 1 Jwrs {6 od &,
R To 1Y SieHT SR T1S St §1 37 it fbar-waral @ ot g # Aok & erawr ter 1d €1 594
T3t g 1 srferawt gwifaa gt 81 oy oft it 3= SeuTg a1 WaT & IR F A g ¢ et Iared
g ran & fafira umT & ghar 81 399 3y wR oY srdogawunsii & wreR AR &1 o= gar g1



U AT fr foreft Suit &) FIE FH I 81 IS9P o ugan fawew eRm 6 3rua 31 & € 14 wearn
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AT HH BT W) Iy § 3R 59 330 § Aoigr Wt I § e o §1 S99 IUTe &) & HH §1 A1l g 3R
FHI BI IgaR ATHT Bidl ¢ | ST F 3T P13 I Tled &, A ST B UId TARMT a1 argar o
9 8 &, MR R # o7 gla1 @ 3R Aiveaay sARer & arar 21 sifow Iarg 39 3 & aaT @ oiel 59
AT AT 81 A TR Dt G dfe TN R & SAIeray Ted! o [hd! SdTe o @iiq foan g ok g1 s@
F WIS U g1 B THTGT 81, T S I YT faod de & o PIg 7 BIg Tro=T a4+ uS3t | fodt
T 99IR ® 8 UTed] Bl dUR B [ 9818 o Thdl 8 L3S & R # fay 3t oo rard) &1 v urs
aniﬁ;r;nﬁjmﬁmﬁl T & o oft wroeit aiftres st a1l 8,983 &) He@yr ST9RI B TeR g
R |

IUYT TR P Ugh? 12 U T U= &I Sk qarse |
URH: OF 3T HI§ HEE Wied § @ I9F IR U T o H 94 gd 32

1. 3To19T-37e19T foreit &

2. 3TCIIT-HeldT At A
3. 37CTIT-37c19T goif A

4. 37CI3T-3edT IMal 3
Correct Answer :-

o 37CIIT-37eT9T &M

15) 3nyfe w1a # Tt gfrar 3t srferawyr oy avg smuw A It g3 € S Asfievur a1 /eiaegeRE wed
g1 31ERUT F ford ArghIATUe o1 ifTT | ATSH TR &7 gs@1d? AN A 31 39 $U- & ARAR & $5
I YR 3R 39 F5 o= § 994 § | AIgp it & AivedsRr It gi-ar & swra ford o 81 srifyet &1
IS Hie? TP 3 IIEVT Bl HdT 81 BIS Bl B A7s A 9741 ¢ iR I8 A 911 H1¥ At & o 3 3=
TP STl &1 3P SMATaT 39 HUT b R aieq fHft s 3= & 71a 819, Wie dee fasdt ok 3w o, @mge,
frar o iz foeft ora 3=1 & 991d 817 1| SR & @y Y uré 3ot SreT 98X GIRT Wis Hiex & gws f6d



STd &, o Ue A1y Siisd) SR 418 91l 71 59 9 fobar-wardl 3 gt g § I5FIR & 3G U id §
39 T g @Y srderawit gutfaa gt 31 3y off fasdt o Ieute a1 Jar F IRk H W Ihd § oI
Iare givrar & At urh & gt 31 599 fay wR 9t erfaraitsit § R falkar &1 591 g 21

AT AR % fdt it &Y HIS B0 Fear 21 9 Rl e fawey ghm % oA =1 & € w1 weaman
ST SI8T S9! AnTd 3if¥e Smuft| nTen fawey ghm fh 39 1w &) forelt ¥/ 21 # FRarar 9Ig, Sigl 9@t
ARTd HH 1A g5 A% @ f6 ®ig Wt o g fAweu &1 gl | uRa, gaflkmn, 69 ok agae & v
AT HH BT IR Uy § 3R 39 33 # Aoigr Wit I § e o &1 S99 IeuTe1 &) &d HH §1 91l g 3R
FHI BI IgAR ATHT a1 8 | TARM od 3T P13 X TG &, dl SqP O U TARMT a1 argar o
1 813 8, TR YR & 91 81T @ SR Aieedar SAReT & orar 21 Sifaw Iare 39 &9 # aaT ¢ Siel 54
AT ST 81 70 TR Bt TaTN: e N TR & SATGIaR Tedh! o bl IdTg B @il R g ik agf s@
& SRR GUA g1 Pt AUTGAT g1, T T BT AT fIo T & R B 7 B Gior=1 a1 S | fowsdt
T IR ® 78 U] ) dUR o fas 9e18 o Thdl 81 3MS & SR # fay 3t $a rard) &1 v uTs
e 9 ok YR & vgar 1 U@ A it ot et aiftre faht TTed @ @ 3 G eyl 9IR) B TeR g
T8l B gbdt|

IUT TR P UgHR H1Y YR Y U= $T I} Jarsy|

wz: T g 1 srferaw o wre oo A It §¥ 39 R PEd 72
1. HEIHIOT

2. EIBRIALOT

3. ITSTRIIOT

4. dafrepToT

Correct Answer :-

o JAfYRToT

16) &8 e w v & §
¥ fraa At f afsar?
Pl T & Iy T ¥
¥ 35oad R A FRAT?
S ¥ AR SAHT A
i 9w § I THTA?
A F A A T A
FiT gHFa § Y gHEA?
FqCT T ¢ FieT Sl
YA BX FT A GATT?
Yedl W, Fel W, TG
@t go 1@ § e
93 FR AT T E



FiT gelt § 77 darel?

g 39aeT A ST & ¥

e raraelt farelt?

St g, &1 3| Fouil &

el # oY WX & F?

gohy AT @ AR a0

3 W Hiadr tF I35

39YFA ISIIT H TgHT Al & AT dTel G FT el IRV
WeT: WX H Ffa A ¥ 3NT A FAT @A 8T 872
1. QM

2. FIeAT

3. fiderar

4. d¥eldl

Correct Answer :-

O E

17) &8 orw w ey & ¥
¥ fFaa A i afsar
Fl T & 7 T @
¥ 3ooad R A1 FRAT?
I ¥ SAAT SHT A
i 9AFA § I THIGA?
TN F Aeg At A A
Fla gwdha § A gHEA?
T AT § FlT Sl
el "X &T T GATAT?
Yedl 9X, Fell W, 99T
@y gu = § @
93 WA AAT W@ ¢

Fi gelt & g5 darelr?

I 3G A Sem & ¥



e graraelt farel?

St g, &1 3| Foui &

el # oY WX & 3MI?

goTeh AT @ oRa #

3 W FAdT tF T3]

39T UEIIT H TgH AT B A G ToA FT el qa1g0l
yee: FfF &F AR Sled F W H FT FAT JerT 82
1. U erd

2. G

3.99

4. HISTel |THA

Correct Answer :-

18) &8 e w v & §
¥ fFaa A fr afsar
Pl T & g T
¥ 3soad ERT &1 HRAT?
S ¥ SAAT SAHT A
i 9w § I THIA?
qHF dog A A A
Fi7 g § If gHeA?
T AT § Fla Sl
el "X T T WATAT?
Yedl W, Fl W, T
@y g @ ¥ aem
3 §aY AT W@ §

Fier gelt & g7 darelr?
a 39ae & ST &) #
e draraelt farel?
St gar, s 3| FOil @



3stell 7 oY WX & 3MH?

g AT fAw @ &

g W HAaT vH T4

39T UEIIT H TGH AT IF A G WA FT el qaq1sv]
wee: MW F Higd W 77U FA FAT F@ AR 37

1. pfaar forgar

2. I H seha

3. Q&I &l

4, 3HATT AT

Correct Answer :-

o HIAAT Torgar

19) &0 g W RET & &
¥ fraar At f Az
FieT Tq A T AT B

¥ 35oad R A FRAT?
I ¥ AT AT A
Fl 9w § 9 THIGA?
A FAgai & A
FiT gHFa § Y gHEA?
T AT § Fla Sl
Y "X T AT GATAT?
Yedl TX, Gell WX, 99T
@t go 1@ § e

93 GAY AT W@ §

Fi gelt & 77 darelr?
g 39ae & ST &) ¥
et draraelt farelt?
it gan, g1 3| FOi @
3isrell # HT WX o HF?
garehr e fow favw &¢



T W HAdT TH T3]

394Fd UEIRT H TGH A IS A qd WA FT el qaqmsv]

Yo FieT Uq # Y AT ERY Hr AFAT FEgw Ffa F1 FFa P 32
1. gadr &1 AR

2. fRET 3R

3. AJST T 3R

4. Upfd & 3T

Correct Answer :-

o Upfd & IR

20) & o oT AT & ¥
¥ fFaa A i afsar
Pl T & oy a_w ¥

¥ Iooad ERI i FRAT?
ST @ STTHIT SATAT A
i gHFd § 9 FHATA?
AN F dAes aRI T A
FlT gHSFA § I GHEA?
T AT § Fla Sl
el "X ST AT GATAT?
Yedl W, Fal W, Fardar
@y gu @ § @

¥2 |aY AT @I #

Fi gelt § 77 darelr?
g 39aeT ¥ ST & ¥
e raraelt farelt?
St g, =1 3| Foil &
el # oY WX & F?
goTh AT fAvE AR a0
3 W HiAdT & I35
39YFA ISIIT Y TgHT Al & AT dTel G FT e I3Vl



WeT: Y X 8 & WA Y PleT T AT §?
1. 9]
2. Sl
3. 919
4, IEEY

Correct Answer :-

21) g& o W RET & §
¥ frwer Al f i
FiT Ta # I T R

¥ 355ad ERI @ FRAT?
I ¥ SAAT SHT A
i 9w § I THIA?
TN F Aeg ARt A A

Fla gxdha § A gHEA?
T AT § Fla Siledt
el "X ST T WSATAT?
Yedl 9X, Fell W, TIT9r
@y gu @ § @

93 WA AAT W@ ¢

Fi gelt & g5 darelr?
a 39a F Srem & ¥
fhaer graraelt farel?
St g, &7 3| Foui &
el # oY WX & IMF?
goTh AT @ oRE
3T W HAdT TH qAT5]
39T UEIIT H TgH AT IF A qd WA FT el qaA1svl
weeT: Tt Uq F FATT §, AfFT FA F 71 T@F Fag Qargelt v qamw?

1. 30 @ HIS G



2. 309 WX IS 1 Ol hr gq7d @
3. fd Y HH F3M
4. ®fd F AT Al ¢@T

Correct Answer :-

o N W GRS A ol & gavs @
22) g g oT AT & ¥

¥ fFaa A i afsar

FieT TT A AT TAT

¥ Iooad NI FRAT?

I SAT SEHT A

i gHFd § 9 gHTA?

AN F dAeg AT T ¥

FleT gadha § A qHEA?

T AT § Fla Sl

el "X ST AT GSATAT?

Yedl UX, Fell UX, FI9T

@y gu @ & A

a3 §R A @8

FiT gelt F 77 darer?

a 39ad F oo & §

e raraelt farelt?

St g, =1 3| Foui &

el # oY WX & F?

goThy AT fAvE AR a0

3 W HiadT & I35

3YYFA ISIIT Y TgHT Al & AT dTel G FT el I3Vl
yee: Tell, {ell AR FeA-FeA W TH e & A1 996K & F41 @y ge &2
1. el

2. Qi

3. {dd



4. IR

Correct Answer :-

23) g g o AET & §
¥ fFaa A afsar
FieT TT A AT AT B

¥ 35oad R A FRAT?
S, @ ST SAHT ¥
Fl gAEHS § AT THIA?
A FAgai & A

FiT gHFa § Y gHEA?
T AT § Fl Sl
Y "X T M GATAT?
Yedl TX, Gell WX, 99T
@t go 1@ § s

a3 TR AT @ E

Fier gelt ¥ 75 dareir?
g 39aa F ST & ¥
fFaa daraelr fawre?
it grar, =1 3| Foil &
3orell # HT WX o HF?
garehr e faw favw &¢
T W FHAdT TH T3]
39T UCIRT H TGH A IS AN q WA FT el qaqnsvl
WeeT: 3N FUIN ) YA AT H X FT HF F@T o F 8T 87
1= #

2.8 #A

3.90T H

4.9d #

Correct Answer :-



24) &l g o @y & §
¥ frasr A & afdai?
FieT Tq A AT AT

¥ ooad R A1 FRAT?
I  SEAIT SEHT A
i gHFd § A THTA?
AN & Aot aRI T

FleT gadha § A qHEA?
T AT § Fl Sl
Yl "X T AT GATAT?
Yedl UX, Gell WX, 99T
@t go 1@ § e

a3 TR AT TR

Fi gelt & 77 dareir?
g 39aA ¥ ST & §
e draraelt faret?
it grar, =1 3| Fon &
el # X WX & 3MF?
geTeh! MeT o o &
3 W Fiadr T I35
394Fd UCIRT H TGH A IS A q TR FT el qaqmsv|
9ol wfd o 3N Fr F FH N A AT Fa1 87
1. AT A

2. 355del ERI &hr

3. Ueed &Y

4. 91 hr

Correct Answer :-

o 3oodd R &r



25) g8t @ W REAT @ §
¥ fFaa A i afsan
Pl T & Iy Iw ¥

¥ 3ooad R A1 FRA?
I ¥ SAAT SAHT A
i 9w § I THIA?
TN F Aeg At A A

FiT gHFA § AT gHEA?
T AT § Ha Sitedr
el "X T T WATAT?
Yedl 9, Tl G, Farger
@t ge @ & e

3 gAY AT @I #

FiT gelt & g7 darelr?
q 39aa F e & ¥
fhaer draraelt fawrel?
St grar, s 3| Foil @
ool # #Y X o HS?
goTehT AT @ oR@ +X
g W HAdT TH qAT5]
39T YT H TGH AT IF A G WA FT el qa1sv]
ye: & o WA A F frw owg F R §
1. fIfdR

2. M

3. ¢Ad

4. 9g8d

Correct Answer :-

26) &Y o ¥ fa@T & ¥
¥ fFaar A fr afzar



Pl T & oy T ¥

¥ 35oad ERI @ FRA?

I ¥ AR SAHT A

i gASHS § I THTA?

A F A A T A

#ia gAFA § If gAgH?

T T ¢ FheT Sl

YA EX FT A GATT?

Yedl W, Gl W, TG

@t go 1@ § e

93 R A @R

Fi gelt & g7 darelr?

g 3Uaa F v & ¥

fFaar rarae e

St gidT, T 3| FU FH

3ol # X WX & 3M3?

geTeh! MT fow @ #

31 W HIar & T3]

39T UCINRT FI YeH{ Al IS Slel ard TR T el qa1s0]
gee: ‘saAHT AT oRw fRw v # foR@a ¥ 41 areud 87

1. UgATeTeTT
2. ST
3, ST

4. IRl

Correct Answer :-

27) g o W AT @ §
¥ frasr A & afdai?
FieT Tq A AT AT

¥ 3ooad @R A1 FRA?



I  SAIT SEHT A
Fia gHFd § A gHTA?
AN & Aot aRI T F
FleT gadhd § A qHEA?
T AT § Fla Sl
Yl "X ST AT GATAT?
Yedl UX, Fell WX, 99T
@t gu 1@ § e
93 TR AT TR

Fi gelt & 37 darer?
g 39ae ¥ ST & ¥
e draraelt farelt?
St grar, =1 3| Foil &
el # X WX & 3MF?
garehr e fow favw &%
3 W Fiadr & I35
3YYFA ISIIT FY GgHT A B STl aTel G FT e IqBTI
WeoT: [ Y fHROl UsA WY AW T IEem A [ o aHFa.e?
1.3 § PIE el

2. TIEr P e

3. I3 P e

4. MY H W&

Correct Answer :-

o I3 B e

28) gl g W R@T  §
¥ fFaa A i afsar
FieT Ta # Ay AT E

¥ 3ooad NI i FRAT?
I § SAAT SHT A

FiT gHFS § I THAH?



AN F dAeg AT T ¥

FleT gadha § A qHEA?
T AT § FleT Sl
el "X ST AT GATAT?
Yedl 9X, Fell W, 99T
@y gu = § @

a3 WR AT @

wi gelt & g5 darelt?
g 39aeT A ST & ¥
e graraelt fare?
St g, &7 3| Foi &
Jsrell # oY WX & MF?
goTh AT @ o a0
g W HAdT TH qA15]
39T UEII Y YGHT Al IS A qd WA FT el qarsel
U Fgl VAT ATl S FIS Vsl &0 FTeThy Hal-HaY fearell Ha1 6T 82
1. g AR

2. Wd-GforerEr &

3. O-31TarT

4, qraT-gaf H
Correct Answer :-

o grT-gofrat H

29) & o W AT & §
¥ fFaa A i afsare
Pl T & Iy Iw ¥

¥ 3ooad R A1 FRA?
S ¥ SAAT SAHT A
i 9w § I THIA?
TN F Aeg At A A

#iT gHFA § AT gHEA?



e AT § e Sitedr

el "X & M GATAT?

Yedl 9, Tl G, Farger

@t go @ & e

93 WA A T E

FiT gt & g7 darelr?

a 39aa F e & ¥

fraa daraelr fawre?

S gdT, 51 3N| Foi H

ool # HY WX oF WF?

goTehT AT @ oR@ #

g W HiAdT TH qAT5]

39T I H TGH AT IF A q WA FT el qaq1sv]
TeeT: g8 ' 9T A 1 afFAr Fa A Fr wer =4 @2
1.3 &

2. GF hr ol @l

3. qut &l

4. 9TH &I

Correct Answer :-

« 3 A

30) &t g W REw & §
¥ fraar At f afsar?

Pl T & oy Tw ¥

¥ 35oad R A FRAT?

I ¥ SAAT SAHT A

Fl 9w § I THIA?

A F A A T A

#i g § It gHeA?

T AT ¢ FheT Sl

39l X HT T GAT?



Yedl W, Fel W, TG

@t go @ § e

S N AT @R

Fi gelt & 77 darelr?

g 3qaa F v & ¥

fFaa daraelr fare?

St giar, 3T 3 St H

3srell # HT WX o AF?

garehr e fow favw ¢

3 W Hfadr F T35

39T UCIRT H TGH A IS A q WA FT el qaqmsv]
Uee: AH & A ari A HRE AW F gHEET §?
1. geaelus feorw

2. qHcH

3. Ulege ferw

4. Telrdiue forw

Correct Answer :-

Topic:- General English(L2GE)

1) Read the poem carefully and answer the question given below:
Destination so far away

Miles and miles to walk

Oh! What fantastic troubles

With no one can he share or talk

Miles and miles walks each man
A traveller in his own way
A traveller in his own life

He has to travel all day



However, occasionally a wise guide
Appears to this travelling man
While on his way he helps him find

The lord’s will and divine plan

The man'’s journey is:

1. A solitary one

2. Not lonely at all

3. Comfortable and relaxed

4. A few miles long

Correct Answer :-

» A solitary one

2) Read the poem carefully and answer the question given below:
Destination so far away

Miles and miles to walk

Oh! What fantastic troubles

With no one can he share or talk

Miles and miles walks each man
A traveller in his own way
A traveller in his own life

He has to travel all day

However, occasionally a wise guide
Appears to this travelling man
While on his way he helps him find

The lord’s will and divine plan

All man’s in his life.



1. a walker
2. a traveller
3. a tourist

4. an explorer

Correct Answer :-

e atraveller

3) Read the poem carefully and answer the question given below:
Destination so far away

Miles and miles to walk

Oh! What fantastic troubles

With no one can he share or talk

Miles and miles walks each man
A traveller in his own way
A traveller in his own life

He has to travel all day

However, occasionally a wise guide
Appears to this travelling man
While on his way he helps him find

The lord’s will and divine plan

“Oh! What fantastic troubles” — this line

1. shows that there are great challenges that man has to face in his lifetime
2. describes how the man is enjoying his troubles
3. shows that the troubles were easy for the man

4. describes how challenging the troubles are

Correct Answer :-

e describes how challenging the troubles are



4) Read the poem carefully and answer the question given below:
Destination so far away

Miles and miles to walk

Oh! What fantastic troubles

With no one can he share or talk

Miles and miles walks each man
A traveller in his own way
A traveller in his own life

He has to travel all day

However, occasionally a wise guide
Appears to this travelling man
While on his way he helps him find

The lord’s will and divine plan

What is the main theme of the poem?
1. Travelling to new places

2. Friends

3. The journey of life

4. Walking

Correct Answer :-

» The journey of life

5) Read the passage carefully and answer the question given below:

Tamar first laid eyes on this beauty when he was 13. For some reason, he had never seen anything
as beautiful as this. It was dressed in red with a little glisten from the coating of olive oil it had all
over its body. It looked like wriggly snakes all piled up together, garmented with fresh, green basil
and cherry tomatoes. It had sprinkling of something that looked like uneven clouds broken and
sprayed on its surface. He didn't know what this was so he took a little bite into the white uneven
clouds bits and he thought it tasted a lot like salty solid milk. It was scrumptious! He then saw
chopped green, yellow and red capsicum chunks that were waxy on the outside but crunchy in
texture, distributed unevenly over this beauty. It felt altogether glorious. He had just met spaghetti
and fallen in love with it for life!



What did Tamar think was crunchy in texture?
1. Spaghetti

2. Olive ail

3. Cheese

4. Capsicum

Correct Answer :-

e Capsicum

6) Read the passage carefully and answer the question given below:

Tamar first laid eyes on this beauty when he was 13. For some reason, he had never seen anything
as beautiful as this. It was dressed in red with a little glisten from the coating of olive oil it had all
over its body. It looked like wriggly snakes all piled up together, garmented with fresh, green basil
and cherry tomatoes. It had sprinkling of something that looked like uneven clouds broken and
sprayed on its surface. He didn’t know what this was so he took a little bite into the white uneven
clouds bits and he thought it tasted a lot like salty solid milk. It was scrumptious! He then saw
chopped green, yellow and red capsicum chunks that were waxy on the outside but crunchy in
texture, distributed unevenly over this beauty. It felt altogether glorious. He had just met spaghetti
and fallen in love with it for life!

What does this passage describe?
1. Beauty

2. Milk

3. Food

4, Clouds

Correct Answer :-

7) Read the passage carefully and answer the question given below:

Tamar first laid eyes on this beauty when he was 13. For some reason, he had never seen anything
as beautiful as this. It was dressed in red with a little glisten from the coating of olive oil it had all
over its body. It looked like wriggly snakes all piled up together, garmented with fresh, green basil
and cherry tomatoes. It had sprinkling of something that looked like uneven clouds broken and
sprayed on its surface. He didn’t know what this was so he took a little bite into the white uneven
clouds bits and he thought it tasted a lot like salty solid milk. It was scrumptious! He then saw
chopped green, yellow and red capsicum chunks that were waxy on the outside but crunchy in



texture, distributed unevenly over this beauty. It felt altogether glorious. He had just met spaghetti
and fallen in love with it for life!

What does the word scrumptious mean in this passage?
1. Tasty

2. Cloud-like

3. Healthy

4, Glorious

Correct Answer :-

8) Read the passage carefully and answer the question given below:

Tamar first laid eyes on this beauty when he was 13. For some reason, he had never seen anything
as beautiful as this. It was dressed in red with a little glisten from the coating of olive oil it had all
over its body. It looked like wriggly snakes all piled up together, garmented with fresh, green basil
and cherry tomatoes. It had sprinkling of something that looked like uneven clouds broken and
sprayed on its surface. He didn't know what this was so he took a little bite into the white uneven
clouds bits and he thought it tasted a lot like salty solid milk. It was scrumptious! He then saw
chopped green, yellow and red capsicum chunks that were waxy on the outside but crunchy in
texture, distributed unevenly over this beauty. It felt altogether glorious. He had just met spaghetti
and fallen in love with it for life!

In this passage, spaghetti is compared to:
1. Tomatoes

2. Basil

3. Worms

4. Snakes

Correct Answer :-

¢ Snakes

9) Fill in the blank with the correct option in the given sentence:
His involve- in the programme helped in making it a grand success.

1. -sively

2.-d



3. -ment

4, -ion

Correct Answer :-

10) Fill in the blank with the correct option in the given sentence:
The scientist had to work very hardto ________his invention.

1. refine

2. refinement

3. refinery

4, refined

Correct Answer :-
o refine
11) Fill in the blanks with the correct pronouns in the given sentence.

After school, and friend always meet up for studies.

1. he, his, theirs
2. me, my, your
3. I, my, our

4. you, my, their

Correct Answer :-

e I, my, our

12) Which of the following options best combines the following sentences?
He was a good player. He was selected.

1. Being a good player, he was being selected.

2. He was a good player, but he was selected.

3. As he was a good player, he was selected.

4. He was selected and he was a good player.



Correct Answer :-

* As he was a good player, he was selected.

13) Choose appropriate articles for the given sentence:

Many foreign leaders cameto __ capitalof __ India to watch Republic Day parade.
1. a, the, no article required

2. the, no article required, the

3. no article required, the, the

4. a, no article required, a

Correct Answer :-
« the, no article required, the

14) Choose the appropriate option that rewrites the given sentence in its passive voice.

I was given a lift by my colleague when I was late to college yesterday.
1. My colleague dropped me at college when I was late to collége yesterday.

2. My colleague was given a lift by me when I wentsto college yesterday,

3. The lift was given by my colleague to me yesterday while going to college.

4. When I was late to college yesterday, my colleague gave me a lift.

Correct Answer :-
« When I was late to college yesterday, my colleague gave me a lift.

15) Choose the appropriate synonym for the highlighted word in the given sentence.

This lugubrious work of art was set up in white marble after his death in St. Paul's cathedral, where
it may still be seen.

1. humungous
2. joyful
3. animated

4, doleful



Correct Answer :-
e doleful

16) Choose the appropriate tenses to fill in the blanks in the given sentence:
me. I to concentrate.

1. Don’t distracting, was trying

2. Don’t distract, am trying

3. Don’t distracted, tried

4. Distract not, try

Correct Answer :-
o Don’t distract, am trying

17) Choose the appropriate antonym for the highlighted word in the given sentence.
The presence of her children should alleviate her sorrow.

1. Allocate

2. Accelerate

3. Assuage

4. Aggravate

Correct Answer :-
e Aggravate

18) Choose the appropriate conjunction for the given sentence.

A heavy storm was forecast the weather was clear.
1. but

2. because

3. unless

4, and

Correct Answer :-



19) Choose the appropriate prefix to fill in the blank in the given sentence.
A further fall in prices provided a great --incentive to investors.

1. ab--

2. ill--

3. im--

4, dis--

Correct Answer :-
e dis--
20) Choose the appropriate prepositions for the given sentence:

Several countries today are suffering food shortage, and unfortunately some people have
to do it.

1. in, besides
2. against, without
3. of, on

4. from, without

Correct Answer :-
» from, without

21) Choose the option that best explains the highlighted expression:

She took the line of least resistance because it was a lost cause.

1. a thread with no tension

2. the course of action which is the easiest to take even though it is not the right thing to do
3. to surrender the object and gain admission into

4. to support whole heartedly without any second thoughts

Correct Answer :-

» the course of action which is the easiest to take even though it is not the right thing to do



22) Choose the option that best explains the highlighted expression:

He is a plain, simple and sincere man; he will always call a spade a spade.
1. help one and all

2. be outspoken

3. very diplomatic

4. very sensitive

Correct Answer :-
e be outspoken

23) Choose the option that best transforms the sentence into its Indirect form:
“Stand here and don’t move,” He said to her.

1. He said her to stand there and not to move.

2. He told her to stand here and not to move.

3. He told her to stand there and not to move.

4, He told her to stand there and do not move.

Correct Answer :-

e He told her to stand there and not to move.

24) Choose the option that substitutes the given phrase appropriately.
A person who eats human flesh

1. Jain

2. Carnivore

3. Vegan

4, Cannibal

Correct Answer :-
e Cannibal
25) Read the sentence carefully and choose the option that has an error in it:

The accountant stole thousands of dollar by juggling the company's books.



1. the company's books.
2. The accountant stole
3. by juggling

4, thousands of dollar

Correct Answer :-

e thousands of dollar

26) Change the given statement to indirect speech.

He said, "I have been working in a company for two years.”
1. He said that he have been working in a company for two years.
2. He said that he had been working in a company for two years.
3. He said that he has been working in a company for two years.

4. He said that he was working in a company for two years.

Correct Answer :-
» He said that he had been working in a company for two years.

27) Choose the right tag:

The kids dance very well, ?
1. do they

2. were they

3. aren't they

4. don't they

Correct Answer :-

o don't they

28) Fill in the blank with the most appropriate preposition in the given sentence.
We went for a run the rain.

1.1in

2. with



3. for

4, at

Correct Answer :-

29) Choose an appropriate modal for the given sentence:

Priya spoke very well. She __ have prepared in advance for her talk.
1. must

2. will

3. shall

4., can

Correct Answer :-

30) Choose the most appropriate determiner in the given sentence.
Would you like cup of tea?

1. any
2. another
3. the

4, some

Correct Answer :-

e another

Topic:- Mathematics (MAT)

1) Which one of the following statements is true about integer? /
fFafafae & @ $19-91 534 [uife & T4y § Id 3?2
1. On multiplying any integer with 0, we get 1. / 0 & &1y farsit +f quifes &Y oM B3 WR, BH 1 U Bian B



2. On multiplying any integer with its multiplicative identity, we get 1. / &t ¢ quifes @ 3@®% IUTcHD
dcaHAd & HIY IO HA W, &H 1 UF Fr &

3. For every integer, 0 is the additive inverse. / Ucd® quiies & fow, 0 v AeMcaAd ufdea &

4. On dividing any integer except 0 by its additive inverse, we get -1. / O @ Bz freT o quiis @ a6
AeTeAD Uldetd d faiad e ), & -1 uid giar &

Correct Answer :-

« On dividing any integer except 0 by its additive inverse, we get -1. / O Pl BISHL el M quileh P Z&b
AQcAd Ufaend & fanfaa & w, & -1 ug o ar &

2) If an amount of Rs. 1368 is distributed amongst 24 persons, then what is the amount that each
person gets? /

afg 1368 $UA F1 Y=RIT 24 AN & St faafka 1 ot 8, @ IS afea 3t fara-t ik frerdt 82
1. Rs. 122 / 122 ¥UT

2. Rs. 53 7 53 %UU

3. Rs. 153 / 153 FUQ

4. Rs.57 / 57 ¥4

Correct Answer :-

« Rs.57 s/ 57 ¥4U

3) A figure on a graph sheet covers 12 fully filled squares and 7 half filled squares. Find the total
area. /

TP U6 e W TH HST 12 T Bl GI d¥8 A HIAT 8 3R 7 T b1 31T HRdT 8 | P &A% I
P

9% 5q units / Q%Eﬁf =0
1. s I

, 13 2 sq units / 13 Z@ef gwrs

; 152 sq units / 15 - @t Z&E

4. 19 sq units / 19 T ZHE
Correct Answer :-
15~ sq units / 15~ gef SH1E



4) A floor 4 m long and 3 m wide is covered with square tiles of colour blue, green and red. One-
fourth of the floor is covered with blue tiles of side 10 cm. Another one-fourth of floor is covered
with green tile of sides 15 cm. The remaining area is covered with red tile of sides 20 cm. Find the
number of blue and red tiles used. /

4 ez dar 3R 3 WieR disT te Wl i, T 3R a1e T F TER ersal A SbT g3 31 BRI BT TP TS
YT 10 I Tt Y1 arad d TT5al A THT1 g1 81 B BT Uh 37 FIATS T 15 I BT Y1 a1dt 88 [T Bt
'cjm?ﬁﬁaggen%lmmzoﬁwmﬁmasﬁﬁmgm%lmwmwﬁsﬁ?maﬁﬁaﬁ
T 1 B

1. Blue =300, red = 150 /

Arel

300, &Tel = 150

2. Blue = 300, red =200 /
el = 300, @Tel = 200
3. Blue = 150, red = 300 /
el = 150, & = 300
4. Blue = 150, red = 200 7
arell = 150, ool = 200
Correct Answer :-

o Blue =300, red =150 /

5) Ages of Rahul, Rohan & Ram are 10, 6 and 13 respectively. The sum of their ages will give
Rajeev’s age. Suma is 5 years older than Rajeev. What will be the age of Suma after 3 years? /

G, A 3R IH BT TG HU: 10, 6 3N 13 T 1 ITD! 3ATY BT AN Ieiid St 3ATY 31 JHT, I F 5
a9 gt 31 3 a6t a1g A1 Pt Iy fartt ghfz

1. 34
2. 30
3. 29

4. 37

Correct Answer :-

6) Another name for Formalism is ./



TEaTG (BiHfere) & fRre 3=y - :l
1. Abstractionism / IHATIFOT (TqEcrIfAsTa)
2. Deductivism / l@sidefdsa

3. Logicism / dffhdicﬂcrvdllru\ldcuc\ GUEIEET:)]

4. Induction / E5FAT

Correct Answer :-

« Deductivism / fBsfaelasa

7) If the radius and height of a cylinder are in the ratio 5:7 and its volume is 550 cubic m, then its
radius is ./

u%wﬁa;aﬁﬁmam“mﬁmmsn%’awwmssoaqlﬂar%,a‘rsﬂaﬂﬁm
|

1. 6cm / 6 Q&Y
2. 7em/ 7 @Y
3. 5cm/ 5 @Y

4, 45cm / 4.5 @A

Correct Answer :-

=x?+ax+b

8) 1r the zeros of the polynomial p(x) are -2 and -3 then % and b are: /

qﬁwp(x} =x’+ax+ bmw_z iR -3 %,?ﬁﬂ@b%:
1.5&-6/5Td -6
2.5&6/5Td 6
3.-5&6/-5Td 6

4, 5&-6/-5Td -6

Correct Answer :-

e 5&6/5Td 6

9) Which of the following explains the commutative property?/

frafaf@a § @ s1-a1 pafafiy 1 $) sren o1 82



1. 103 + (25 - 35) = (103 + 25) - 35
2. (at+b) = (b+a)
3.35-22=(22-35)

4. a(b+c) = ab+tac

Correct Answer :-
e (atb)=(bta)

10) Which one of the following statements is correct about number? /
fFufafad &  F19-91 FYF J@I & Jd9 § T4 82
1. Every number is a factor of one. / TS TS Th H[ YCh Eﬁ?ﬂ %I

2. 2 is the only odd prime number. / 2 THa favd G{‘J-HRIFT@JT%I

3. 2 is the smallest prime number. / 2 Ha& BIET IHTST T&IT &l

4. One is a prime number. / 1 T&h 3{HTT TBAT B |

Correct Answer :-

o 2is the smallest prime number. / 2 T8 BIEY AT TEAT &l

11) A frog falls into a well of 12 meter depth:It tries to jump outaEach times it jumps up it jumps as
high as 3 meter but slides down 2 meter because of slippery wall.of the well. In how many jumps
will the frog reach out of the well? /

% Hew 12 Hew TR Us $3 # FRar 31 U8 916r A &1 SRR #3da1 31 Yd® 9R 9 9 o g af
g 3 Hiex SWR Ugd 1T 8 AP Fa & e ardl Sar & srRor 2 Hex i fraa omar 81 $T 9 arew
rpaq & e dew & fra-l IR e ©=Tm?

12) In ALMN 2M=70° and LM=NM. Then £N= /

ALMN#, +M=70°Td LM=NM &, ar 2N=



550
2.

£ne
3. 30
4. 70°

13)  Which of the following is not the solution of the equation F;x+5? /

frafaf@a 7 & slaar THfERor y="x+5 &1 8 61 o7
1. (4,19)
2. (-6,-16)
3. (-12,-37)
4. (-8,23)

Correct Answer :-

Ifz-l-%:lilandax—by:a:— b2, thenx &y =? /
aﬁz+%=ﬂﬁax—hy=az— hzg,ﬂbrxt'a_’}r=?

a(a®+b?)  bfa*+b?)

ai_h3 ' ¥ ai-hT

al_iaz—bz:l blibz— az:l
X: premm— =
? at+hb? ¥ al+ b*

3. x= a(a?+b?), y = b(a%-b?)
4. x=a, y=b

Correct Answer :-



=a[az—hz:| - hl:bz— az]

at+h? at+ ke

1 3
5) Ifx+§= Et,hent,hevaluenfx—ils:f

G x+-=28, d x—- & A &
1.2
2.0
3.3
4, -1

16) Ty angle which is 24° less than its complement is- [

dg HIUT Sl 3l GHRS & 24° A b

g adda

470

[y

33°

4 =

Correct Answer :-



Find the number of line segments required to make a honev comb structure with 20

compartments arranged linearly? /

as &7 § cmafug 20 &5l e T AYHRT Tad g0 & v 3aas
{EEsT &l T&aT AT 7

1. 100
2. 105
3. 101

4. 120

Correct Answer :-
e 101

18) P ”g and / be the transversal. »1=61°then £22=7/

o ||g T v T W@ R 21=61eap. dme=2

. 6l°
5 118e°
3. 60°
4 119

Correct Answer :-

119



19) 1 a parallelogram ABCD if 2~ CDB=45° and ~DAB=65°_ then ~CBD =7 /
UF FAAY Il ABCD#, Ifg ~cDB=45° 3R ~DAB=65°§, " £CBD =2

. 60
, 45°
5
, 10°

Correct Answer :-

70e

20) A number ‘a’ divides 1320 and 781 exactly. Given a1, then the number “a’ is not a factor of

3
Ud GEAT ‘2’ 1320 R 781 FF qUTE: fAenfa e 81kl feEm I 8, | JEar o

o 9 ol ol
1. 2101
2. ltself / T@&
3.539

4. 125

Correct Answer :-

e 125

21) In a triangle ABC if 2CAB=7(°, and AB=AC then #B and »C are /
uF TRl ABCH. afg £CAB=T0° 3R AB=AC®, aF B3R C¥:

80°, 80°
1.

55°, 8o°
5 :

i i b
3. £

207, BO°



Correct Answer :-

o

LA

5G

22)

If the sum and product of whose zeroes are 2 and —E . then the quadratic polvnomial is i

e AR 3R 39S YeIH HT AOTADA ET!E:;—E%:FlTaj?ﬂHE@E 2l

= 5

1 5x*—10x —3
5 5x%+10x +3
3, 5x%+10x —3
4 X7 —10x +3

Correct Answer :-

23) [p2Ete 2 o0 o [ afe Zx+s -2 %. ar x=

3-5x 3 3—5x 3
1.2
2.1
3.3

4.4

Correct Answer :-

24) Choose the number divisible by 9. /
9 A faurfora g1 areft e &1 9a+ 531
1. 9987123
2. 3425816
3. 6789548

4. 4536279

Correct Answer :-



e 4536279

25) Find the value of m, if one zero of the polynomial (” +4)x* +65x +4m

other: /

is the reciprocal of the

afe agug (m* +49)x” + 65x + 4M g7 yes I 3T BT HFHH 2, A m BT T JE B
1. ‘u"E
2. 3

3.1

4. 2

Correct Answer :-

— .3 2 _ 9y _
26) Find the value of m if (x-1) is a factor of px) = x* +6x 2x — Sm. /

gfy P = %% +6x% = 2% = SM g v (41) 2 G m 1 §1E T
1.2
2.-1
3.2

4.1

Correct Answer :-

27) Find the whole numbers. / Tﬁﬂ'@ﬂ Td P

16 x 8725 x 625
1. 87,389,600
2. 87,250,000
3. 83,760,000

4. 87,110,000

Correct Answer :-



» 87,250,000

28) James is inside an aeroplane flying at a height of 7000 meter above the sea which is below sea

level at a level. At a particular point, it is exactly above a submarine depth of 1/6 the height of
plane. What is the vertical distance between James and the submarine? /

ST TP gaTSoIeTe & 3ieR § ol Ug% ad ¥ 7000 HeX Ft Ha13 R 38 61 31 T faxiv fig R, 9@
TP TS & 31 FUWR & SNl FaATSoIeTS & 1/6 SHaTs a1 Y% dd & 1 g1 oy U9 TIgs &
a SHeaier gt fpat 82

1. 8333.33 meter / 8333.33 HIX
2. 9166.66 meter / 9166.66 FHeI
3. 9333.33 meter / 9333.33 #HieX

4. 8166.66 meter / 8166.66 HIeX

Correct Answer :-
o 8166.66 meter / 8166.66 FHeX

29) Anil is 6 years older than Akhil. Akhil is 36 months younger than Vijay. If Vijay’s age is taken as
y, then age of Anil is: /

e 3mg o e & 6 a9 91 31 i omg ¥ fawa & 36 0e Bier 31 afe fawa #t sy y & T <t
STl 8, @Y Sifvre @ 3y 2:

1. 6(y-36)
2. 6+(y-3)
3. 6+(y-36)
4. (y+6)

Correct Answer :-

30) If 76x — 189y = -37 & -189x + 76y = -302, then find the value of x and y. /
gfe 76x — 189y = -37 TH -189x + 76y = -302 8, A x TG y & W Fd B3|
1.x=-2,y=-1

2.x=-2,y=1

3.x=2,y=1

4. x=2,y=-1



Correct Answer :-

. X=21y=1

31) ‘Mahabhaskariya’ an astronomical work completed in eighteenth century is written by: /
HETHRGIIT’ 3r3Red] Xared! # ot fsar war ver @ity ord @ ford T ferar mar 81
1. Aryabhata - II/3-TI'~’ff342\_C -1

2. Sridhara / #IreX

3. Bhaskar Acharya / #TEDT R IBIR]

4. Ramanujan / THATT STl

Correct Answer :-
« Sridhara / #T¢R

32) are related to growing plants. /
__ 9d Yl 9§ Hefld &

1. Natural numbers / l,«llri)lraqv TEITU

2. Real numbers / diEd e TEITT
3. Fibonacci numbers / IEEIGEIEECIEY

4. Rational numbers / UREAT G&ITT

Correct Answer :-
e Fibonacci numbers / INEIGEIRECEIY

33) The length and breadth of a cuboid is 12 cm and 9 cm respectively. If the total surface area of
the cuboid is 678 cm? , then the height of the cuboid is: /

gguaﬂﬁaﬁaﬁ?ﬁaém: 12 1t 3R 9 At B1 A 1Y &1 o gy AFwa 678 W2 ], ot gAY F

1. 15cm/ 15 @&
2. 11cm/ 11 &=
3.6cm/ 6 QT

4,21 cm/21 @

Correct Answer :-



e 1lcm/ 11 Q&

34) The sequence of steps for mathematical modelling is:
1) Understand the problem.

2) Mathematical description and formulation.

3) Solving mathematical problem.

4) Interpreting the problem and validating.

/ Tfvr ufeRegur (wisfenT) & fore =Rl &1 3w 8:
1) UY/IHSTd S HSHTI

2) Tifordia faavor iR 3w

3) TR U/ FHRTS BT JHTUH BT

4) U/ THTH &1 TRT BT 3R T AT
1.3,2,1,4

2.1,4,3,2

3.2,1,3,4

4.1,2,34

Correct Answer :-

35) The main body of the lesson plan is based,on the Herbartian principle of: /

TS TS BT &I YR & go¢ Rygid R e g1
1. Presentation / ‘;I"va’ﬁf

2. Conclusion / fasey

3. Introduction / IR

4, Association & Generalization / afa 3R grar==feor

Correct Answer :-

e Association & Generalization / afa 3t gra=fetor

39y3(50y? —98) + 26y3(5y + 7

36) simplify:- )/

T - 39y3(50y? —98) + 26y3(5y + 7
L. 2y(Sy-7)

2. 3y(5y+7)

)



3. 3Gy =7

4. 2yGy+7)

Correct Answer :-
. 3y(y-7)

37) Two triangles ABC and DEF are similar and the ratio of their areas is 25:9, then the ratio of their
corresponding sides is, ./

&I Y ABC UG DEF WY § dUT §% &5 d BT 3JUTd 25:9 §, df $A®! TTd Yarsil &1 3rgura
gl

1. 4:5
2. 53
3. 3:5

4, 54

Correct Answer :-

38) If mean and mode of a data are 11 and 8 respectively, thenjmedian= "~ .|/
I T HiHI F AT AR TG HAA: 11 TAT 8 F, A weAw = Fl
1. 10

2. 11

3.8

4. 12

Correct Answer :-

39) In a parallelogram ABCD, DC = 16 cm. If the altitude corresponding to the sides AB and
AD are respectively 8 cm and 10 cm, then AD=__ ./

TF FAER T8 ABCD #, DC = 16 4l 81 I Forar ofamd AB @ur AD #r 5=mé waer: 8 {at
aur 10 JA B, @ AD=___ |

1. 16 cm / 16 T



2.12.5cm / 12.5 @
3.12cm / 12 @
4,12.8cm / 12.8 I

Correct Answer :-

e 12.8cm / 12.8 GaY

40) The mean of 25 observations is 36. If the mean of the first 13 observations is 32 and that of

the last 13 observations is 39, the 13t observation is : /

25 Y&T0IY &1 ATET 36 §1 TG ggor 13 W&TUIY &1 ATET 32 Ud 3ifae 13 Wefoil &1 #Arew 39 &, ar 13af
qeTor §:

1.22
2.25
3.26

4,23

Correct Answer :-

41) What is the ratio in which the join of A(-4,3) and B(2,-6) divided by the y-axis? /

a§ I 41 §, fowe Rg A(4,3) W@ B(2,-6) F TR arelt Y@ y-3ra7 qamr faenfaa @l §7
1.1:4

2.2:1

3.1:2

4, 4:1

Correct Answer :-

42) Construction of altars for the sacrifice, applying geometrical facts to perform duties by fixing east-
west was assigned to the .

sfdea & v ARl w1 fasior F19, gF- ofew # P & g Fdsdl @+ F R
ST aeat # a6 TR F FH, F1 Hiar =




1. Sulbhakars / HodThl

2. Aryabhatta / 3TIHCT

3. Bhaskara / #ATERT
4. Brahmagupta / SIGII[d

Correct Answer :-

« Sulbhakars / gedTehT

43) Three cubes each of edge 4 cm are joined end to end horizontally, then the lateral surface area of the
resulting cuboid is: /

49 Rt T A T T SR Rig AR T @ oF g € @Y TROm gamr E med g awa ¥
1. 120 cm?/ 120 {2

2. 150 cm?/ 150 3h2

3. 128 cm?/ 128 T2

4,95 cm?/ 95 {2

Correct Answer :-

e 128 cm?/ 128 T2

44) Which of the following is an example of a cubic polynomial? /
frfaf@a # @ Fla-a1 uar qgug #1 vF eI ¥?

1. x+x3

2. X24x

3. %3+x

4. x4x3

Correct Answer :-
o x3+x

45) describes steps or a set of do’s and don’ts to a method or strategy. /

t# A a1 Eifa & @Ot a1 At F F 9 TE F& FT g FIGT Bl



1. Technique / deheilch

2. Tactics / gﬁﬁ
3. Method / T

4. Approach / SUTITH

Correct Answer :-

o Technique / ddelleh

46) The equation of line passing through (2,3) and parallel to x-axis is -

39 Y@ &1 FHEr ¢, S (2,3) @ 1T TORCT § dUT X-378T F FAAK g

1 x=2
5 X =2
3.V =3
4,y =73

47) The respective positions of three friends A, B and C are (3, 2), (6, 5) and (9, 8) respectively. What
does the three points joined together make? /

e ARl A, BUa C & Hafda T FA: (3, 2), (6, 5) AR (9, 8) &1 it feg v wmyr ey Fam et
4

1. An obtuse angled triangle / T& 3BT YT
2. A line segment / T W1 TS

3. An equilateral triangle / Th THaTg YW
4. A right angled triangle / T& JH®I Y

Correct Answer :-

« Aline segment / & A1 TS

48) One among the below does not belong to creative behaviours and that action verb is i

feT & A oF WA SIaER W WaeH 781 @dr ¢ 3R TF frarens e gl



1. reconstruct / g?ri?mﬁw

2. design / ®qTdheT

3. compare / Jelell
4, alter / gRada

Correct Answer :-

* compare / Jelell

49) The radius of a circle whose circumference is equal to the sum of the circumference of the two
circles of diameters 36 cm and 20 cm is .

F ga i B ¢, ot aRfer 36 @+ @ur 20 |+ =T arer & gAt F IR F AT F
T B

1. 56
2. 24
3. 28

4. 14

Correct Answer :-

50) Three-dimensional topology is a branch in mathematics which is more related
with ./

e smare wiftyfy (@aetsh), Toa A vrararg s aRwwEfRa
1. Biotechnology / S1d Gl farchr

2. Economics / 3R

3. Chemistry / THTIA fa=TT

4. Physics / $ifae fa=ire

Correct Answer :-

+ Physics / M s



The major aim of mathematics education is: /
IO FRI&TT T I7& 362T &
1. Preparing for competitive exams / Ufa=ief qr&Tr31t & forw R adar

2. Mathematisation of the child's thought process / g &1 faar uferar &r
IfoTTeRoT

3. Solving problems / qﬁﬁw

4. Improving computational skills / TTOTATCHD qﬁ?fﬂﬁ{[‘iﬂ'\r CREGI

Correct Answer :-

« Mathematisation of the child's thought process / god &1 faar gfehar or

52) ‘Micro teaching is a scaled down teaching encounter in class size and class time’
was stated by: /

FATFH RAGTUT, F&T F HHR T F&7T & FAT A Raor gag Hragaare, 8 _
& SdRT gl 7]

1. Piaget / TOITS1
2. D.W. Allen / 81.3¢eg, Teld
3. Gagne / X

4. Bruner / eiX

Correct Answer :-

. D.W. Allen / 31.3¢6y, Teld

53) Which of the following is considered as the most suitable approach in mathematics curriculum
organization? /

farafaf@a & & Fd J1f0ra aTeasa sgavyr & W@ 3UYFd TREHIOT AAT ST 82
1. Psychological / HATI=ATADR
2. Topical / TS



3. Unitary / UdblcHD

4. Spiral / gide

Correct Answer :-

e Spiral / aiter

54) Which of the following is related with Cognitive Domain? /
frafaf@d # & sl FaeTeAs & ¥ wefta @2

1. Valuing / A8@ &1

2. Applying / T HIAT

3. Receiving / IAGUT hIdTl

4. Responding / wfaforar &ar

Correct Answer :-

* Applying / ©ITI] hAT

55) Which of the following aim of teaching mathematics help the individual to become self-
reliant and independent? /

A0 qoet & afaf@d sqaeat & 4 ie (W1 3@y, SfFa 1 At 3k @
T A AGG FIAT &2

1. Disciplinary / 31IRMTAATCHD
2. Utilitarian / 3UTafy

3. Cultural / HREPIAD
4. Social / HIATSID

Correct Answer :-
« Disciplinary / 3MHATcHD

56) Item analysis is a quality assessment strategy to prepare ./
Te fazayor TR F & T T uraw i TuHi g1

1. Question bank / U¥ g

2. Evaluation / Hedidhel



3. Examination / G{Y&T

4. Student performance / EIER LR

Correct Answer :-

+ Question bank / U S

57) Express 486 as a product of powers of prime factors. /
486 DI AT UIBI & ITd & [UHHA & U § FIad Be |
1.3°

2.12x 53

3.21x 3°

4.53x 2

Correct Answer :-

e 21x 33

58) Jeevan fills a wall in his room with the photos he took. The size of a photo is 21 cm by 18 cm. If
he uses 6 photos, then what is the area of the wall? /

Siiaq 9 3MUA IR Pl Th AR &I WU GRS TR 6 W fear e a3k &1 emer 21 I x
18 41 g1 afe 98 6 IR &1 SUANT HdT gyl STaR ST 8B T 22

1.2068 sqcm / 2068 TIHHAT
2.2268 sqcm / 2268 TIHHAT
3.378 sqcm / 378 I @

4.2334sqcm / 2334 TIIA

Correct Answer :-

¢ 2268 sqcm / 2268 T

59) Area of a quadrilateral ABCD is 35 €M The length of the perpendiculars on its diagonal BD
from A and D are 3 cm and 4 cm respectively. Find the length BD. /

TgYs ABCD &7 &% 35 Q12 21 A 3R D A 39S fawvf BD W &9 Ft dars wu=n: 3 At ek 4
I+l 81 BD & waTS F1d B

1. 10 cm / 10 @Y



2.15cm/ 15 @
3.25cm/25 QY
4,12 cm/ 12 @

Correct Answer :-

e 10cm/ 10 @

60) y¢x” —3x+ 24 5 factor ofx‘}_mf2 T4 then find the value of ¥ and 7 /
af x* —px? +q$TWx2 —3x+ Eé,a‘rpeﬁvqmmsrraﬁl

1.p=5,q =4

2.p=4jq =3

3. P=249=1

4.p=3,q =2

Correct Answer :-

p:SJq:il-




